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QUESTION 1

Which two statements are correct about database transportation? (Choose two.) 

A. The source and target platforms must be the same 

B. Redo logs, control files and temp files are also transported 

C. The transported database must have the same database identifier (DBID) as the source database and cannot be
changed 

D. The COMPATIBLE parameter must be set to 10.0.0.0 or higher and the database must be opened in readonly mode
before being transported 

E. Recovery Manager (RMAN) is used to convert the necessary data files of the database if the target platform is
different and has different endian format 

Correct Answer: DE 

 

QUESTION 2

You configured the default backup device type as disk for RMAN backups. In your database, because of business
requirements, you have to take a simultaneous duplicate backup of the data files when the RMAN BACKUP command
is used. 

What must you set using the RMAN CONFIGURE command to achieve this? 

A. MAXSETSIZE TO 2; 

B. DEVICE TYPE DISK PARALLELISM 2; 

C. RETENTION POLICY TO REDUNDANCY 2; 

D. DATAFILE BACKUP COPIES FOR DEVICE TYPE DISK TO 2; 

Correct Answer: D 

 

QUESTION 3

You are in the process of creating a Virtual Private Catalog (VPC) in your Oracle Database l1g database 

.The PROD1, PROD2, and PROD3 Oracle Database 10g databases are registered in the base recovery 

catalog. The database user who owns the base recovery catalog is CATOWNER.CATOWNER executes 

the following command to grant privileges to a new user vpc1 using Oracle Database 11g RMAN 

executables: 

RMAN> GRANT CATALOG FOR DATABASE prod1, prod2 TO vpc1; Then you issue the following 
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commands: 

RMAN> CONNECT CATALOG vpc1/oracle@catdb; 

RMAN> SQL "EXEC catowner.dbms_rcvcat.create_virtual_catalog;" 

What is the outcome of the above commands? 

A. They execute and create a virtual catalog for pre-Oracle 11g clients. 

B. They produce an error because PROD1 and PROD2 databases belong to the older version. 

C. They produce an error because you need to connect as CATOWNER to execute this packaged procedure. 

D. They produce an error because you need to connect to the target database to execute this packaged procedure. 

Correct Answer: A 

 

QUESTION 4

Examine the following set of RMAN commands: 

RMAN> CONFIGURE CHANNELdelDEVICETYPEDISK FORMAT \\'/u02/backup/%U*; RKAN>RUN {
ALLOCATECHANNELchlDEVICETYPEDISK; EXECUTESCRIPTfull_backup; } 

Which statement is true when the RMAN run block is executed? 

A. The execution of the script fails because multiple channels cannot coexist. 

B. The script is executed and both the channels are used for the script execution. 

C. The new channel, CH1, is ignored because a channel has been configured already. 

D. The persistent configuration parameter DC1 is overridden because a new channel is allocated in the RMAN run
block. 

Correct Answer: D 

 

QUESTION 5

Which client requests to the database can be captured as a part of the workload capture? (Choose all that apply.) 

A. flashback query 

B. distributed transactions 

C. logging in and logging out of sessions 

D. all DDL statements having bind variables 

E. direct path load of data from external files 

Correct Answer: CD 
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